2021

2
No. of Printed Pages : 6 2})&‘9 ;\ 6 1 3 7 5 4865

LT T ———
Register Number

Birewwr_mb sy evm(p) / Second Year

semiisid shLiss60/ TEACHING OF MATHEMATICS

(30 Hmitd e eufl / Tamil & English Version)

ST Bjarey : 3 wewfl Cryb ] [ Qurgs wEluGLemseT : 100
Time Allowed : 3 Hours | [ Maximum Marks : 100

Sidlejemyaen : (1)

(2)

Instructions : (1)

(2)

Simeansg efarssEnd sflwunrs ufleurdl o drergm ereanugenar
sllunisss Gareateteyd. F&HILSMND Ganullpliber eunen
Qs semsrerfliuureriiib o anquirgs tsfeilése, .

Bl sdogm smUY ovpulaar bLHGCW TRHUsHED
2&5GaMg(Heush@d Lweruphss Ceuamid. UL RIS alenFeusnE@
Guenfledr LweTLHSSHeLD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Black or Blue ink to write and underline and pencil to draw diagrams.

LSl - I/PART -1

Smangg SamasErs®b eflenwellEsab. 20x2=40

Answer all the questions.

1. QAemeumb &g swsdled n-ar wdlliy sneaws 3:12 =n: 48,
Find the value of ‘n" if 3:12 =n : 48.

2. uveognuy Gsrenal erammmed ereiean ? T(hSSHISSTL(H H(HS.

Define polynomial expression. Give an example.

3. &i&s : Jy+6=15.
Solve : 3y+6=15.
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10.

11.

12.

13.

Spssnan sreldlBHE FynEh HNETS.
11, 5, 6, 8, 14, 10

Find the mean for the following data :
11, 5, 6, 8, 14, 10

efleurhiseT cuensL LOSSSOeT UGS LTHal ?
Write the types of classification of data.

@ FoLUES sheusd aemUDGHaID.

Define isosceles trapezium.

@ BIDSTSSE apeny Camamasar apanpGu 70°,130% 110° Gremmmed, HrensEraig
CHnewid STes.
A quadrilateral has 3 angles as 70°, 130° and 110°. Find the fourth angle.

72 Hopw 108 & cremEETTa ERLITEG eUGLL-SFmig O Al 5 Geods crawt
GTaTEN ?
What is the smallest 5 digit number that is exactly divisible by 72 and 108 ?

25 wremeafsend 72% GuT serflpll LUTLSHD £ penIDILITETEU F&ET. gerflgL
urLgHed SHerowdGOM] aggavar GuT?
Out of 25 students, 72% are skilled in Maths. Find the no. of unskilled students.

(5 OSeuaimg uien Aaneo T1500. @semen T13506S AHpréd, SETEBLIG FHEIHID
GTasTent ?
The cost of a bicycle is ¥ 1500. If it is sold for T 1350. Find the discount percentage.

2 SEH&T HH1 G Fe0 6o DWESHSS Wreneu?
What are the central concept of strategy instruction ?

(PG T(LpHEIFCFTE 2 55&6& a(HsgEeTH SBS-

Give an example for acronyms strategy.

Sreumiiey @WLWS SHOHE® PEOH D sH9&S u[ﬂj;gjemués&mu@éﬂg)
umtugduler gemelLs@Er &DS.
Suggest some topics in Mathematics to teach by using problem based learning method.
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Ereumic) eows SHHe Gl AW eraupeno gallisHHee Geuamhn ?
What are the things to be avoided by the teacher in problem based learning ?

Lateflenw e Qe fpssamigw wirareafsdiD Gopalls el (Hid

QyFsenenseT winenael ?
Give few skills that are low, in potential dropout students.

senfisd sHAGsme Lrdlesssniqw sryenflger wig?

Give reasons which affect the Mathematics learning.

LS semEdlen LIWLGTEET WTene?
What are the purposes of doing Puzzles ?

safls s@SSI0 LALIHDL - AI@ILDESALD.

Define - Communication in Mathematics.

sHwn/seupr eflen euensudeT @G DEET @\ 7anTIq ENETTE En D15
Give two demerits in alternate response (yes/nc) questions.

Qewemymisfuden Ly Hlevesdr erarern?
What are the steps in ‘Action Research’ ?

u@dl - II/PART - 11

geu@aur Gflellel BHbgID mig darsamars Gsib@dsHiss QurggLd

10 eQennéa@ndE eflerLwalléaew.

Answer ten questions by selecting five questions from each Section.

ﬁlﬁsq—cvq/SECTiON w

5x4=20

G&HwU B flsms SUTTEESLD apen werdpQsaTarGaudimaw GHILLE6T

\wmeney ?

What are the points to be remembered before preparing the family budget ?

(B+1)+(x+1) @en may wppd BHews srars.
Find the quotient and remainder of :
(FB+1)+(x+1)
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23.

24.

25.

26.

27.

28.

4
Eiés.
3x+2y=7
x+ Yy =
Solve :
3x+2y=7
3x+ y =5
Spsea geysafler e flana SieTey ETERTE

20 -30 30—40\2-50 50 - 60

10 11

Class Interval 50 - 60 N
No. of Students 5 ‘

y=3x+2-eiﬁ cu@nTLILLD GUETS.
Draw the graph of : y=3x+2.

AB=4 Q&8 BC=6 Qs8, CD=5.6 Q&8 DA=5 Q&s wppn AC=8 Q&b erestd
oyenayser @ameT ABCD erestp BrHa&ID SDDEE HST pFliLaTaneus ETEHTE.
Draw a quadrilateral ABCD whose sides are AB=4 c¢cm, BC=6 cm, CD=5.6 cm,
DA =5 cm and diagonal AC=8 cm and also find its area.

(T, BLAE a(mefien Herd 1824 8 G- srasfudLd 4 GPUpF FmETEE@HD 20
sapafar epanler GG LGHUD 2-aTaTer arafid, sraRdLD QISHOTS THHNS
SL L BT 2aTerg
% m long, Sankarihas four full rolls and one-third of another
roll, How many meters of ribbon does Sankari have in total 7

One roll of ribbon is 18

Z 8000 &(& 10% GuL-iy eSgld eraile @yenr(® SpTHSD He_sGD 0
ULl ig &G0, g,euﬂqué;@Lb o_dren eSS LINESDSS FHTERNE.

Find the difference between simple interest and compound interest for a sum of
Z 8000 lent at 10% p.a. in 2 years.
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29,

30.

31.

32.

33.

34,

35.

36.

\91fley- 94,/ SECTION - B 5x4=20

SBEg au@TuL 2 FHow LHHE GO euenrs.
Write a short note on concept mapping strategy.

<iPleyery o sHufe Ly Blenasener ersissm G eflams;(55.
Explain the steps involved in teaching cognitive strategy.

Srarmliaen s SOPDES ‘Quipseafisib’ UmLg seoalla®mos ofF
TOSHESN B Shg Ly Hevasear elard@s.
Give an example and explain the steps in problem learning in the topic “Algebra’.

@7 Sieumiey Spbssns eww eema Qs metrig (mé s Gevamg s LiakrLser
wrenéu ?

What are the characteristics of problem based learning ?

2w sarflafll LHMD e seafliumar HwapBler Gorss eflene T 31,000, &
saflafll@en elme qm sefitiutaiar e9maamuy el % 29,000 @ifsb erefed
@@ saflafufler whHpyb ®@ safiuunaflar alevewenis STAR 2 58Ul en ey
LWeTLIRSHS se@m_s.

The total cost of a computer and a calculator is T 31,000. If the cost of a computer is
¥ 29,000 more than that of a calculator, find the cost of a computer and a calculator
using STAR Strategy.

seoflls licussder WSS CBréstiser erarar?
What are the objectives of Mathematical laboratory ?

ENGE HHSSIL LURLIPYS FerLse wWreney?

What are the barriers in Mathematical Communications ?

Gopud Cergenamufer Lig Blevavser wmeneu?

What are the steps involved in diagnostic tests ?
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u@d - IIL/PART - III

“emaumid ellemrsaEns@ ellenLwieisse]b. 2x10=20
Answer the following questions.
37. (@) sexfigd spufle seuear FFUYSGHW WLTETEUTHET WIT? &6l J&Har
FoUufeugshHETen SMTEMBISET WTea ?
ICTEVEVE Y

(&) 2an auELle samils warngdaer aTeaueuTn BLEFUTL TeTLMS
elleufl&&6yD.

(a) Who are the students to be given special attention during learning Mathematics ?
(at risk students). What are the reasons for the learning difficulties ?

OR
(b) Explain how you will conduct a Mathematics Club in your class ?

38. () Bremsmd aw@GUY wremafsa Siey sragpbCGung Gelwyb Genpser,
leupPsrer Freyser eflerdEs.
D{6VEVG)
(1) SuEGF Carsenar eTemmme GTeTaT ?
gHSTD aGUle gtsab @@ UTLUUGHSE iwgs Cangamaren
U bleneaemers Qarear(h ellamssrdr earlaar swrfléEsab.
(a) Explain in detail the mistakes done by the fourth standard students and the
solutions for those mistakes.
OR

(b) What is a Unit Test ? Explain the steps involved in constructing a unit test and
construct one for any lesson in fifth standard.
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